
qm;+ xfnsf] ljBfnosf] ;+s]t g+= lzIfssf] gfd,y/ tx
:yfoL/  

c:yfoL
>])fL

xfnsf] 

txdf z'? 

lgo'lQm

a('jf 

kq hf/L 

ldlt

tna :s]n

075 

 sf] 

u|]* 

;+Vof

075 sf] 

u|]* /sd 

dfl;s 

u|]* / 

t=e=

s=;+=sf]if 

yk

ljdf 

yk

dx+uL 

eQf

k|=c= 

eQf

dfl;s 

hDdf

4 

dlxgfsf] 

hDdf

rf*kj{ vr{ v'b kfpg] s}lkmot

1 lqdf]xg dflj ;qmflGtahf/ 59001 lrGtfdl)f pk|]tL df=lz= :yfoL t[tLo 061.01.27 35990 6 7200 43190 4319 400 2000 500 50409 201636 43190 244826

2 lqdf]xg dflj ;qmflGtahf/ 58885 gGbnfn bgf{n df=lz= :yfoL låtLo 061.01.27 074.7.7 40380 3 4038 44418 4442 400 2000 51260 205039 44418 249457

3 lqdf]xg dflj ;qmflGtahf/ 58935 clUgk|;fb ;]gfO{ df=lz= :yfoL t[tLo 061.01.27 35990 6 7200 43190 4319 400 2000 49909 199636 43190 242826

4 lqdf]xg dflj ;qmflGtahf/ 151692 /fhg ltlD;gf df=lz= :yfoL t[tLo 071.05.27 35990 4 4800 40790 4079 400 2000 47269 189076 40790 229866

5 lqdf]xg dflj ;qmflGtahf/ vu]Gb| k|;fb vqL df=lz= :yfoL t[tLo 071.05.28 35990 0 0 35990 3599 400 2000 41989 167956 35990 203946

7 lqdf]xg dflj ;qmflGtahf/ ljgf]b lg/f}nf p=df=lz= b/aGbL 2068.5.8 40380 0 40380 2000 42380 169520 40380 209900

8 lqdf]xg dflj ;qmflGtahf/ goGb| s'df/ kmf]Daf] p=df=lz= b/aGbL 2074.10.11 40380 0 40380 2000 42380 169520 40380 209900

0 1590721

3 si0f dflj 8fF8ufpF dx]Gb|k|;fb rf}w/L df=lz= /fxt 2066.04.18 35990 0 35990 2000 37990 151960 35990 187950

4 si0f dflj 8fF8ufpF ltn axfb'/ vjf; p=df=lz= b/aGbL 068.4.16 40380 0 40380 2000 42380 169520 40380 209900

5 si0f dflj 8fF8ufpF ;'/]z nD;fn p=df=lz= b/aGbL 2074.10.7 40380 0 40380 2000 42380 169520 40380 209900

6 si0f dflj 8fF8ufpF lbks b'nfn df=lz= c:yfoL
t[tLo

2074.10.7 35590 0 35990 2000 37990 129887 28200 158087
2076.05.06 df lgdf 

kb:yfkg

7 si0f dflj 8fF8ufpF k|bLk *fuL df=lz= c:yfoL t[tLo 2076.1.25 35590 0 35990 2000 37990 151960 35990 187950

8 si0f dflj 8fF8ufpF u+ufk|;fb lg/f}nf df=lz= c:yfoL t[tLo 2076.1.25 35590 0 35990 2000 37990 151960 35990 187950

9 si0f dflj 8fF8ufpF sdnk|;fb e)*f/L df=lz= c:yfoL t[tLo 2076.1.25 35590 0 35990 2000 37990 151960 35990 187950

si0f dflj 8fF8ufpF ceo lnDa" df=lz= :yfoL t[tLo 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

1484638

0

1 /fd ;+:s[t dflj v]nk'/ 152090 ljhos'df/ ofbj df=lz= c:yfoL t[tLo 054.05.05 35990 35990 3599 400 2000 500 42489 169956 35990 205946

2 /fd ;+:s[t dflj v]nk'/ #gZofd kf}*]n df=lz= c:yfoL t[tLo 057.01.06 35990 35990 3599 400 2000 41989 167956 35990 203946

3 /fd ;+:s[t dflj v]nk'/ ldq k|;fb b''nfn df=lz= c:yfoL t[tLo 2075.5.11 35990 35990 2000 37990 151960 35990 187950

4 /fd ;+:s[t dflj v]nk'/ o'j/fh cfrfo{ p=df=lz= cg'bfg 2072.6.7 40380 40380 2000 42380 169520 40380 209900

5 /fd ;+:s[t dflj v]nk'/ b]jsf l#ld/] p=df=lz= cg'bfg 071.4.1 40380 40380 2000 42380 169520 40380 209900

6 /fd ;+:s[t dflj v]nk'/ ;'jf;rGb| d';fxfª df=lz= c:yfoL 2076.2.3 35990 35990 2000 37990 151960 35990 187950

0 1205592

1 dx]Gb| dflj vfDnfn'ª 58987 e'jgl;+x rf]ª\jfé df=lz= :yfoL t[tLo 061.01.27 35990 6 7200 43190 4319 400 2000 500 50409 201636 43190 244826

2 dx]Gb| dflj vfDnfn'ª 100681 *f]ngfy lg/f}nf df=lz= :yfoL t[tLo 060.11.10 35990 6 7200 43190 4319 400 2000 49909 199636 43190 242826

3 dx]Gb| dflj vfDnfn'ª 151753 >Lgf/fo)f ofbj df=lz= c:yfoL t[tLo 2074.10.11 35990 35990 2000 37990 151960 35990 187950

4 dx]Gb| dflj vfDnfn'ª 155857 vu]Gb| rf]esSafe df=lz= c:yfoL t[tLo 2074.12.1 35990 35990 2000 37990 151960 35990 187950

5 dx]Gb| dflj vfDnfn'ª lji)f' k|;fb vgfn p=df=lz= cg'bfg 2071.9.1 40380 40380 2000 42380 169520 40380 209900

6 dx]Gb| dflj vfDnfn'ª pd]z lu/L p=df=lz= cg'bfg 2071.9.1 40380 40380 2000 42380 169520 40380 209900

0 1283352

1 ;/:jtL dflj Xjfs' c/ljGb s'df/ ;fx df=lz= c:yfoL t[tLo 2073.2.2 35990 35990 2000 37990 151960 35990 187950

2 ;/:jtL dflj Xjfs' csnaxfb'/ lnDa" df=lz= /fxt 2066.02.25 35990 35990 2000 500 38490 153960 35990 189950

3 ;/:jtL dflj Xjfs' r]tgfy lg/f}nf p=df=lz= cg'bfg 2072.1.27 40380 40380 2000 42380 169520 40380 209900

4 ;/:jtL dflj Xjfs' bLk]Gb| aflgof p=df=lz= cg'bfg 2074.10.12 40380 40380 2000 42380 169520 40380 209900

5 ;/:jtL dflj Xjfs' g/]Gb| >]i& df=lz= c:yfoL t[tLo 2074.9.24 35990 35990 2000 37990 151960 35990 187950

6 ;/:jtL dflj Xjfs' nf]sjxfb'/ s]?ª df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 110563 35990 146553 2075.05.04 df :yfoL

7 ;/:jtL dflj Xjfs' O{Zj/Lk|;fb e§/fO{ df=lz= :yfoL 2076.05.05 35990 35990 3599 400 2000 41989 99366 35990 135356 2075.05.04 df :yfoL

0 1267559

cf7/fO{ ufpFkflnsf t]x|y'd

df=lj= txsf lzIfsx?sf] cf=j=076.077 sf] k|yd rf}dfl;s tna lgsfzf ljj/)f  -2076.06.04 df cWofjlws_
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cf7/fO{ ufpFkflnsf t]x|y'd

df=lj= txsf lzIfsx?sf] cf=j=076.077 sf] k|yd rf}dfl;s tna lgsfzf ljj/)f  -2076.06.04 df cWofjlws_

1 k|0ffdL dflj Ojf 151790 cd[taxfb"/ a"(fyf]sL df=lz= :yfoL t[tLo 071.05.27 35990 4 4800 40790 4079 400 2000 500 47769 191076 40790 231866

4 k|0ffdL dflj Ojf ?b| gf/fo)f ofbj df=lz= c:yfoL t[tLo 2075.2.27 35990 35990 2000 37990 151960 35990 187950

3 k|0ffdL dflj Ojf lbns'df/L a'(fyf]sL df=lz= /fxt 2065.05.15 35590 0 35990 2000 37990 129887 28200 158087
2076.05.06 df lgdf 

kb:yfkg

4 k|0ffdL dflj Ojf eLd k|;fb lnDa' p=df=lz= cg'bfg 2071.9.1 40380 40380 2000 42380 169520 40380 209900

5 k|0ffdL dflj Ojf afns'df/ dxt p=df=lz= cg'bfg 2071.11.8 40380 40380 2000 42380 169520 40380 209900

6 k|0ffdL dflj Ojf ;"o{Hof]tL g]Dafª df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

0 1152654

1 kf]v/L dflj 5ft]9'ª\uf b]jLk|;fb ;+u|f}nf df=lz= :yfoL låtLo 2061.1.27 k|=c= 40380 5 6730 47110 4711 400 2000 500 54721 218884 47110 265994

3 kf]v/L dflj 5ft]9'ª\uf 151690 dx]z sGbª\jf df=lz= :yfoL t[tLo 071.05.27 35990 4 4800 40790 4079 400 2000 47269 189076 40790 229866

6 kf]v/L dflj 5ft]9'ª\uf ljdnf yklnof p=df=lz= cg'bfg 2068.8.29 40380 0 40380 2000 42380 169520 40380 209900

7 kf]v/L dflj 5ft]9'ª\uf b]j]Gb| s'df/ kf}*]n p=df=lz= cg'bfg 2065.9.29 40380 0 40380 2000 42380 169520 40380 209900

kf]v/L dflj 5ft]9'ª\uf kjg e§/fO{ df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

kf]v/L dflj 5ft]9'ª\uf k|]d k|;fb vltj*f df=lz= c:yfoL 2066.02.18 35990 35990 2000 37990 151960 35990 187950

1258561

1 zf/bf dflj r'xfg8fF8f 58960 eLdaxfb'/ cfrfo{ df=lz= :yfoL låtLo 061.01.27 2069.11.25 40380 5 6730 47110 4711 400 2000 500 54721 218884 47110 265994

2 zf/bf dflj r'xfg8fF8f 151702 l*NnL k|;fb rDnfufO{ df=lz= c:yfoL t[tLo 2075.10.24 35990 35990 2000 37990 151960 35990 187950

3 zf/bf dflj r'xfg8fF8f 151689 sdnfb]jL e§/fO{ df=lz= :yfoL t[tLo 071.05.27 35990 4 4800 40790 4079 400 2000 47269 189076 40790 229866

4 zf/bf dflj r'xfg8fF8f /fdk|sfz cf]emf df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

5 zf/bf dflj r'xfg8fF8f ejb]j e§/fO{ df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

6 zf/bf dflj r'xfg8fF8f !fg axfb'/ /f]sf p=df=lz= b/aGbL 2067.9.18 40380 40380 2000 42380 169520 40380 209900

7 zf/bf dflj r'xfg8fF8f lbng /]UdL p=df=lz= b/aGbL 2072.2.1 40380 40380 2000 42380 169520 40380 209900

0 1413512

1 eujtL dflj yf]Sn'ª 58999 k|]dk|sfz nfld%fg] df=lz= :yfoL låtLo 061.01.27 2072.6.1 40380 3 4038 44418 4442 400 2000 500 51760 207039 44418 251457

2 eujtL dflj yf]Sn'ª rngrGb| k|sfz sGbª\jf df=lz= :yfoL t[tLo 2072.9.6 35990 3 3600 39590 3959 400 2000 45949 183796 39590 223386

3 eujtL dflj yf]Sn'ª clegf/fo)f k/fh'nL df=lz= :yfoL t[tLo 2075.12.25 35990 35990 3599 400 2000 41989 167956 35990 203946

4 eujtL dflj yf]Sn'ª /ljGb| Gof}kfg] p=df=lz= cg'bfg 2069.12.2 40380 40380 2000 42380 169520 40380 209900

5 eujtL dflj yf]Sn'ª gf/fo)f k|;fb ltlD;gf p=df=lz= cg'bfg 2072.3.1 40380 40380 2000 42380 169520 40380 209900

eujtL dflj yf]Sn'ª d]#/fh n'O{^]n df=lz= :yfoL 2076.05.04 35990 35990 3599 400 2000 41989 118961 35990 154951 2075.05.04 df :yfoL

eujtL dflj yf]Sn'ª k|]d/fh n'O{^]n 35590 0 35990 2000 37990 129887 28200 158087
2076.05.06 df lgdf 

kb:yfkg

1411627

1 lqdf]xg dflj ;qmflGtahf/ l;tf/fd lg/f}nf df=lz= c:yfoL t[tLo 054.05.15 35990 0 35990 2000 37990 151960 35990 187950 ufpFkflnsfjf6 e'QmfgL

lzIff zfvf n]vf zfvf k|d'v  k|zf;lso clws[t


